AGERRE I & 12 = 938 - B AR
5812H
[ 2R ) FEKkiE
Xe£% [ FT12RIEEESEFREGHETRE MABTIKHRRE ]
[E1:4) ( 2@EE ) (9: 58 ~ 11:20) 5@a—iLRK

F— L% 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 =t
sz E2 0 0 0 0 0 0
HFR 0 1 4 5 X 10
I & BB PR B

® F XI5 w® F )IA

W F R W F EH

AREFT REFT

Ezi‘i:ﬂ _ﬁﬂ

(% - i)

[(ZE2:Aa] ( 2@ ) (12:23 ~ 13:56) 6@3I—ILEK
=

— L% 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 =t
%aRI 1 4 1 2 2 3 13
%eRT 0 0 0 0 1 0 1
2hEL Bk LHRT Bk
® F AN ic) == ® F KA INEE =
B T AR EIREEET
AEFT KB (RH) AEF]
E:T:ﬂ =247

[E=% - 53]




